Xor-sequence HackerRankH

An array, A, is defined as follows:
° A() =0
e A, = A, 1 ® x for x > 0, where @ is the symbol for XOR

You will be given a left and right index [ 7. You must determine the XOR sum of the segment of A as

All@ All+ 1])®...0A[r — 1] @ Ar].

For example, A = [0,1,3,0,4,1,7,0,8|. The segmentfroml=1tor =4sumsto 130064 = 6.
Print the answer to each question.

Function Description

Complete the xorSequence function in the editor below. It should return the integer value calculated.
xorSequence has the following parameter(s):

e /: the lower index of the range to sum

e r: the higher index of the range to sum
Input Format

The first line contains an integer q, the number of questions.
Each of the next ¢ lines contains two space-separated integers, l[i| and 7[¢], the inclusive left and right
indexes of the segment to query.

Constraints

1<¢<10°
1 <I[i] < r[i] <10%

Output Format

On a new line for each test case, print the XOR-Sum of A's elements in the inclusive range between
indices I[¢] and 7[3].

Sample Input 0

anNn N W

Sample Output 0
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https://en.wikipedia.org/wiki/Exclusive_or

15
Explanation O

The beginning of our array looks like this: A =[0,1,3,0,4,1,7,0,8,1,11,.. ]
Test Case 0:

3o004="7

Test Case 1:

36004010 7TH0B8=9

Test Case 2:

1670006801 =15

Sample Input 1

35
4 6
15 20

Sample Output 1

Explanation 1

A=]0,1,3,0,4,1,7,0,8,1,11,0,12,1,15,0,16,1,19,0,20,1,23,0,24,1,...]. Perform the xor sum
on each interval:

3-5:004001=5

4-6:40107=2

15-20:0016010190 06 20 = 22
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